Some Inequalities For Complete Elliptic Integrals^{*}

Li Yin[†], Feng Qi[‡]

Received 1 September 2014

Abstract

In this paper, by using the Lupaş integral inequality, the authors find some new inequalities for the complete elliptic integrals of the first and second kinds. These results improve some known inequalities.

1 Introduction

Legendre's complete elliptic integrals of the first and second kind are defined for real numbers 0 < r < 1 by

$$\kappa(r) = \int_0^{\pi/2} \frac{1}{\sqrt{1 - r^2 \sin^2 t}} \, \mathrm{d}\, t = \int_0^1 \frac{1}{\sqrt{(1 - t^2)(1 - r^2 t^2)}} \, \mathrm{d}\, t \tag{1}$$

and

$$\varepsilon(r) = \int_0^{\pi/2} \sqrt{1 - r^2 \sin^2 t} \, \mathrm{d} \, t = \int_0^1 \sqrt{\frac{1 - r^2 t^2}{1 - t^2}} \, \mathrm{d} \, t \tag{2}$$

respectively. They can also defined by

$$\kappa(r,s) = \int_0^{\pi/2} \frac{1}{\sqrt{r^2 \cos^2 t + s^2 \sin^2 t}} \,\mathrm{d}\,t \tag{3}$$

and

$$\varepsilon(r,s) = \int_0^{\pi/2} \sqrt{r^2 \cos^2 t + s^2 \sin^2 t} \,\mathrm{d}\,t. \tag{4}$$

Let $r' = \sqrt{1 - r^2}$. We often denote

 $\kappa'(r) = \kappa(r')$ and $\varepsilon'(r) = \varepsilon(r')$.

^{*}Mathematics Subject Classifications: 26D15, 33C75, 33E05.

 $^{^\}dagger \mathrm{Department}$ of Mathematics, Binzhou University, Binzhou City, Shandong Province, 256603, China

[‡]College of Mathematics, Inner Mongolia University for Nationalities, Tongliao City, Inner Mongolia Autonomous Region, 028043, China; Department of Mathematics, College of Science, Tianjin Polytechnic University, Tianjin City, 300387, China; Institute of Mathematics, Henan Polytechnic University, Jiaozuo City, 454010, Henan Province, 454010, China

These integrals are special cases of the Gauss hypergeometric function

$$F(a,b;c;x) = \sum_{n=0}^{\infty} \frac{(a,n)(b,n)}{(c,n)} \frac{x^n}{n!},$$

where $(a, n) = \prod_{k=0}^{n-1} (a+k)$. Indeed, we have

$$\kappa(r) = \frac{\pi}{2} F\left(\frac{1}{2}, \frac{1}{2}; 1; r^2\right) \text{ and } \varepsilon(r) = \frac{\pi}{2} F\left(-\frac{1}{2}, \frac{1}{2}; 1; r^2\right).$$

Recently, some bounds for $\varepsilon(r)$ and $\kappa(r)$ were discovered in the paper [6]. For example, Theorem 1 in [6] states that, for 0 < r < 1,

$$\frac{\pi}{2} - \frac{1}{2} \ln \frac{(1+r)^{1-r}}{(1-r)^{1+r}} < \varepsilon(r) < \frac{\pi-1}{2} + \frac{1-r^2}{4r} \ln \frac{1+r}{1-r}.$$
(5)

For more information on inequalities of complete elliptic integrals, please refer to [1, 2, 3, 7, 8] and a short survey in [9, pp. 40–46].

Motivated by the double inequality (5), some estimates for $\varepsilon(r)$ in terms of rational functions of the arithmetic, geometric, and roots square means were obtained in [5, 10, 11].

The aim of this paper is to establish some new inequalities for the complete elliptic integrals.

2 A Lemma

In order to prove our main results, the following lemma is necessary.

LEMMA 2.1. If $f', g' \in L_2[a, b]$, then

$$\left|\frac{1}{b-a}\int_{a}^{b}f(t)g(t)\,\mathrm{d}\,t - \frac{1}{b-a}\int_{a}^{b}f(t)\,\mathrm{d}\,t\frac{1}{b-a}\int_{a}^{b}g(t)\,\mathrm{d}\,t\right| \le \frac{b-a}{\pi^{2}}\,\|f'\|_{2}\,\|g'\|_{2},\quad(6)$$

where

$$\|f'\|_2 = \left(\int_a^b |f'^2| \,\mathrm{d}\, t\right)^{1/2}$$
 and $\|g'\|_2 = \left(\int_a^b |g'^2| \,\mathrm{d}\, t\right)^{1/2}$

The inequality (6) is called the Lupaş integral inequality, see [4, p. 57].

3 Main Results

Now we are in a position to find some inequalities for complete elliptic integrals.

THEOREM 3.1. For $r \in (0, 1)$, we have

$$\frac{\pi\sqrt{6+2\sqrt{1-r^2}-3r^2}}{4\sqrt{2}} \le \varepsilon(r) \le \frac{\pi\sqrt{10-2\sqrt{1-r^2}-5r^2}}{4\sqrt{2}}.$$
(7)

L. Yin and F. Qi

PROOF. Taking

$$f(t) = g(t) = \sqrt{1 - r^2 \sin^2 t}$$

and letting a = 0 and $b = \frac{\pi}{2}$ in the inequality (6) yield

$$\left| \frac{2}{\pi} \int_{0}^{\pi/2} \left(1 - r^{2} \sin^{2} t \right) \mathrm{d} t - \frac{4}{\pi^{2}} \varepsilon^{2}(r) \right|$$

$$= \left| \frac{4}{\pi^{2}} \varepsilon^{2}(r) - \frac{2 - r^{2}}{2} \right| \leq \frac{1}{2\pi} \int_{0}^{\pi/2} \frac{r^{4} \sin^{2} t \cos^{2} t}{1 - r^{2} \sin^{2} t} \mathrm{d} t$$

$$= \frac{1}{2\pi} \int_{0}^{\pi/2} r^{4} \sin^{2} t \cos^{2} t \sum_{n=0}^{\infty} r^{2n} \sin^{2n} t \mathrm{d} t$$

$$= \frac{1}{2\pi} \sum_{n=0}^{\infty} \int_{0}^{\pi/2} r^{2n+4} \left(\sin^{2n+2} t - \sin^{2n+4} t \right) \mathrm{d} t = \frac{1}{4} h(r), \quad (8)$$

where we use

$$\int_0^{\pi/2} \sin^{2i} t \,\mathrm{d}\, t = \frac{\pi}{2} \frac{(2i-1)!!}{(2i)!!} \tag{9}$$

for $i \in \mathbb{N}$, and

$$h(r) = \sum_{n=0}^{\infty} \frac{(2n+1)!!}{(2n+2)!!} \frac{r^{2n+4}}{2n+4}.$$

A direct calculation yields

$$h'(r) = \sum_{n=0}^{\infty} \frac{(2n+1)!!}{(2n+2)!!} r^{2n+3} = r \sum_{n=0}^{\infty} \frac{(2n+1)!!}{(2n+2)!!} r^{2n+2} = r \left(\frac{1}{\sqrt{1-r^2}} - 1\right),$$

where we use

$$\frac{1}{\sqrt{1-t^2}} = \sum_{n=0}^{\infty} \frac{(2i-1)!!}{(2i)!!} t^{2n}, \quad |t| < 1.$$
(10)

Hence, we have

$$h(r) = h(0) + \int_0^r h'(r) \,\mathrm{d}\,r = 1 - \sqrt{1 - r^2} - \frac{r^2}{2}.$$
 (11)

Substituting this equality into (8) gives

$$\left|\frac{4}{\pi^2}\varepsilon^2(r) - \frac{2-r^2}{2}\right| \le \frac{1}{4} - \frac{\sqrt{1-r^2}}{4} - \frac{r^2}{8}.$$

This means the double inequality (7).

REMARK 3.1. By the well-known software MATHEMATICA, we can show that

(i) the left-hand side inequality in (7) refines the corresponding one in (5);

- (ii) the right-hand side inequalities in (7) and (5) are not contained in each other;
- (iii) when $r \in [\frac{1}{4}, \frac{3}{4}]$, the right-hand side inequality in (7) is better than the corresponding one in (5).

THEOREM 3.2. We have that

$$\kappa(r) \le \frac{\pi\sqrt{32(1-r^2)+r^4}}{8\sqrt{2}\sqrt[4]{(1-r^2)^3}} \text{ for } r \in (0,1)$$
(12)

 and

$$\kappa(r) \ge \frac{\pi\sqrt{32(1-r^2)-r^4}}{8\sqrt{2}\sqrt[4]{(1-r^2)^3}} \text{ for } x \in (0, 2\sqrt{3\sqrt{2}-4}).$$

PROOF. Taking

$$f(t) = g(t) = \frac{1}{\sqrt{1 - r^2 \sin^2 t}}$$

and letting a = 0 and $b = \frac{\pi}{2}$ in the inequality (6) lead to

$$\begin{aligned} \left| \frac{2}{\pi} \int_{0}^{\pi/2} \frac{1}{1 - r^{2} \sin^{2} t} \, \mathrm{d} t - \frac{4}{\pi^{2}} \kappa^{2}(r) \right| \\ &= \left| \frac{4}{\pi^{2}} \kappa^{2}(r) - \frac{2}{\pi} \int_{0}^{\pi/2} \sum_{n=0}^{\infty} r^{2n} \sin^{2n} t \, \mathrm{d} t \right| \\ &= \left| \frac{4}{\pi^{2}} \kappa^{2}(r) - \sum_{n=0}^{\infty} \frac{(2n-1)!!}{(2n)!!} r^{2n} \right| = \left| \frac{4}{\pi^{2}} \kappa^{2}(r) - \frac{1}{\sqrt{1 - r^{2}}} \right| \\ &\leq \left| \frac{1}{2\pi} \int_{0}^{\pi/2} \frac{r^{4} \sin^{2} t \cos^{2} t}{(1 - r^{2} \sin^{2} t)^{3}} \, \mathrm{d} t \\ &= \left| \frac{1}{4\pi} \int_{0}^{\pi/2} r^{4} \sin^{2} t \cos^{2} t \sum_{n=0}^{\infty} (n+2)(n+1)r^{2n} \sin^{2n} t \, \mathrm{d} t \right| \\ &= \left| \frac{1}{8} \sum_{n=0}^{\infty} (n+2)(n+1)r^{2n+4} \frac{(2n+1)!!}{(2n+2)!!} \frac{1}{2n+4} = \frac{r^{3}}{32} p(r), \end{aligned}$$

where

$$p(r) = \sum_{n=0}^{\infty} \frac{(2n+2)(2n+1)!!}{(2n+2)!!} r^{2n+1}$$

satisfies p(0) = 0,

$$\int_0^r p(r) \,\mathrm{d}\, r = \sum_{n=0}^\infty \frac{(2n+1)!!}{(2n+2)!!} r^{2n+2} = \frac{1}{\sqrt{1-r^2}} - 1,$$

and so

$$p(r) = \frac{r}{\sqrt{(1-r^2)^3}}.$$
(13)

L. Yin and F. Qi

Consequently, we find

$$\left|\frac{4}{\pi^2}\kappa^2(r) - \frac{1}{\sqrt{1-r^2}}\right| \le \frac{r^4}{32\sqrt{(1-r^2)^3}}.$$
(14)

The double inequality (12) follows.

THEOREM 3.3. For r > 0 and s > 0, we have

$$\frac{\pi}{8}\sqrt{\frac{8rs(r^2+s^2)-(s^2-r^2)^2}{rs}} \le \varepsilon(r,s) \le \frac{\pi}{8}\sqrt{\frac{8rs(r^2+s^2)+(s^2-r^2)^2}{rs}}.$$
 (15)

PROOF. Taking

$$f(t) = g(t) = \sqrt{r^2 \cos^2 t + s^2 \sin^2 t}$$

and letting a = 0 and $b = \frac{\pi}{2}$ in the inequality (6) reveal

$$\begin{aligned} \left| \frac{2}{\pi} \int_0^{\pi/2} \left(r^2 \cos^2 t + s^2 \sin^2 t \right) \mathrm{d} t - \frac{4}{\pi^2} \varepsilon^2(r, s) \right| \\ &= \left| \frac{4}{\pi^2} \varepsilon^2(r, s) - \frac{r^2 + s^2}{2} \right| \le \frac{1}{2\pi} \int_0^{\pi/2} \frac{(s^2 - r^2)^2 \sin^2 t \cos^2 t}{r^2 \cos^2 t + s^2 \sin^2 t} \, \mathrm{d} t \\ &\le \left[\frac{(s^2 - r^2)^2}{2\pi} \right] \frac{1}{4} \int_0^{\pi/2} \frac{1}{r^2 \cos^2 t + s^2 \sin^2 t} \, \mathrm{d} t \\ &= \left[\frac{(s^2 - r^2)^2}{8\pi} \right] \frac{1}{r_s} \arctan\left(\frac{s}{r} \tan t \right|_0^{\pi/2}\right) = \frac{(s^2 - r^2)^2}{16rs}. \end{aligned}$$

This means the double inequality (15).

THEOREM 3.4. For s > r > 0, we have

$$\left|\frac{4}{\pi^2}\kappa^2(r,s) - \frac{1}{\pi rs}\right| \le \frac{s^2 - r^2}{32rs} \left(\frac{1}{s^2} + \frac{1}{r^2}\right).$$
(16)

PROOF. Taking

$$f(t) = g(t) = \frac{1}{\sqrt{r^2 \cos^2 t + s^2 \sin^2 t}}$$

and letting a = 0 and $b = \frac{\pi}{2}$ in the inequality (6), we acquire

$$\begin{aligned} \left| \frac{2}{\pi} \int_{0}^{\pi/2} \frac{1}{r^{2} \cos^{2} t + s^{2} \sin^{2} t} \, \mathrm{d} t - \frac{4}{\pi^{2}} \kappa^{2}(r, s) \right| \\ &= \left| \frac{4}{\pi^{2}} \kappa^{2}(r, s) - \frac{1}{\pi r s} \right| \leq \frac{1}{2\pi} \int_{0}^{\pi/2} \frac{(s^{2} - r^{2})^{2} \sin^{2} t \cos^{2} t}{(r^{2} \cos^{2} t + s^{2} \sin^{2} t)^{3}} \, \mathrm{d} t \\ &= \left| \frac{r^{2} - s^{2}}{8\pi} \int_{0}^{\pi/2} \sin t \cos t \, \mathrm{d} \frac{1}{(r^{2} \cos^{2} t + s^{2} \sin^{2} t)^{2}} \right| \\ &= \left| \frac{r^{2} - s^{2}}{8\pi} \left[\int_{0}^{\pi/2} \frac{\sin^{2} t}{(r^{2} \cos^{2} t + s^{2} \sin^{2} t)^{2}} \, \mathrm{d} t - \int_{0}^{\pi/2} \frac{\cos^{2} t}{(r^{2} \cos^{2} t + s^{2} \sin^{2} t)^{2}} \, \mathrm{d} t \right] \\ &= \left| \frac{r^{2} - s^{2}}{8\pi} \left[\int_{0}^{\pi/2} \frac{\csc^{2} t}{(r^{2} \cot^{2} t + s^{2})^{2}} \, \mathrm{d} t - \int_{0}^{\pi/2} \frac{\sec^{2} t}{(r^{2} + s^{2} \tan^{2} t)^{2}} \, \mathrm{d} t \right] \\ &= \left| \frac{r^{2} - s^{2}}{8\pi} \left[\int_{0}^{\infty} \frac{1}{(r^{2} u^{2} + s^{2})^{2}} \, \mathrm{d} u - \int_{0}^{\pi/2} \frac{1}{(r^{2} + s^{2} \lambda^{2})^{2}} \, \mathrm{d} \lambda \right] \\ &= \left| \frac{s^{2} - r^{2}}{32rs} \left(\frac{1}{s^{2}} + \frac{1}{r^{2}} \right) \right|. \end{aligned}$$

The proof is complete.

REMARK 3.2. From (16), we easily obtain

$$\frac{\pi}{2}\sqrt{\frac{32r^2s^2 - \pi(s^4 - r^4)}{32\pi r^3 s^3}} \le \kappa(r, s) \le \frac{\pi}{2}\sqrt{\frac{32r^2s^2 + \pi(s^4 - r^4)}{32\pi r^3 s^3}}.$$
(17)

By the software MATHEMATICA, we can show that the double inequality in (17) and the inequality in [6, Theorem 2] are not contained in each other.

Acknowledgements. The first author was supported partially by the Natural Science Foundation of Shandong Province under grant number ZR2012AQ028, China. The second author was partially supported by the National Natural Science Foundation under Grant No. 11361038 of China and by the Foundation of the Research Program of Science and Technology at Universities of Inner Mongolia Autonomous Region under Grant No. NJZY14192, China.

The authors appreciate anonymous referees for their careful corrections to the original version of this paper.

References

- H. Alzer, Sharp inequalities for the complete elliptic integrals of the first kinds, Math. Proc. Camb. Phil. Soc., 124(1988), 309–314.
- [2] G. D. Anderson, P. Duren, and M. K. Vamanamurthy, An inequality for complete elliptic integrals, J. Math. Anal. Appl., 182(1994), 257–259.

- [3] G. D. Anderson, S.-L. Qiu, and M. K. Vamanamurthy, Elliptic integrals inequalities, with applications, Constr. Approx., 14(1998), 195–207.
- [4] N. S. Barnett and S. S. Dragomir, On an inequality of the Lupaş type, Demonstratio Math., 42(2008), 57–62.
- [5] Y. M. Chu, M. K. Wang, S. L. Qiu, and Y. P. Jiang, Bounds for complete elliptic integrals of second kind with applications, Comput. Math. Appl., 63(2012), 1177– 1184.
- [6] B. N. Guo and F. Qi, Some bounds for the complete elliptic integrals of the first and second kind, Math. Inequal. Appl., 14(2011).
- [7] F. Qi, L. H. Cui, and S. L. Xu, Some inequalities constructed by Tchebysheff's integral inequality, Math. Inequal. Appl., 2(1999), 517–528.
- [8] F. Qi and Z. Huang, Inequalities for complete elliptic integrals, Tamkang J. Math., 29(1998), 165–169.
- [9] F. Qi, D. W. Niu, and B. N. Guo, Refinements, generalizations, and applications of Jordan's inequality and related problems, J. Inequal. Appl., 2009(2009), Article ID 271923, 52 pages.
- [10] M. K. Wang and Y. M. Chu, Asymptotical bounds for complete elliptic integrals of the second kind, J. Math. Anal. Appl., 402(2013), 119–126.
- [11] M. K. Wang, Y. M. Chu, S. L. Qiu, and Y. P. Jiang, Bounds for the perimeter of an ellipse, J. Approx. Theory, 164(2012), 928–937.